A shoe shop is having a sale where customers who purchase two pairs of shoes that are
the same price receive 50% off the second pair.

1. a) A customer purchases two pairs of shoes with an original price of $75.00 each.
What does this customer pay in total during the sale? Show your work.

b) A customer purchases two pairs of shoes with an original price of $59.00 each and
two pairs of shoes with an original price of $35.00 each. What does this customer pay
in total during the sale? Show your work.

2. a) During the sale, a customer purchases two pairs of shoes with the same original
price and pays $126.00 in total. What is the original price for one pair of these shoes?
Show your work.

b) During the sale, a customer purchases four pairs of shoes with the same original
price and pays $360.00 in total. What is the original price for one pair of these shoes?
Show your work.
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